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Ideals for irreducible componentfbf Xpar

I = (ub — % 4 —1)

* 1 irreducible components of dim¢ = 0, with total 66 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u%® 4+ 37u% + . —3u+ 1
C2,Cy bl e —u -1
C3,C4,C8 ub — -1
c5, €10, C11 w — =1
Co ub® 4+ 4% .. — 743u — 317
Cg, C12 u® — 11u% + .- — 2747y + 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 YO0 —15y5%° ... 4Ty + 1
C2,C7 Yo 437 .. —3y+1
C3,C4,Cg y66_67y65+_99y+1
€5, €10, C11 YO+ 61y 4+ —3y+1
¢ 66 65
6 Yy 417y 4+ - - + 1831157y 4 100489
66 65
€9, C12 Yy 4 45y°° 4+ - -+ — 101539y + 34969




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= 0.083821 + 1.0040401

—1.38136 — 1.507221

—13.6391 + 3.90551

= 0.083821 — 1.0040401

—1.38136 + 1.507221

—13.6391 — 3.90551

= 0.510793 4 0.9138951

7.93842 4 0.052241

—2.32745 — 2.857191

= 0.510793 — 0.9138951

7.93842 — 0.052241

—2.32745 + 2.857191

= —0.488111 + 0.9305661

1.77759 — 2.775541

—5.98797 + 2.907691

= —0.488111 — 0.9305661

1.77759 + 2.775541

—5.98797 — 2.907691

= —0.244653 + 1.0252301

—0.013940 — 0.3296571

—12.44759 4- 0.1

= —0.244653 — 1.0252301

—0.013940 + 0.3296571

—12.44759 4- 0.1

= —0.061449 + 1.0573901

4.20453 4 4.477481

—9.15575 — 3.230571

= —0.061449 — 1.0573901

4.20453 — 4.477481

—9.15575 + 3.230571

= 0.335683 + 1.0108601

—3.14750 + 2.835321

—16.6157 — 6.08071

= 0.335683 — 1.0108601

—3.14750 — 2.835321

—16.6157 + 6.08071

= 0.498424 + 0.9581061

1.39631 + 6.681581

—8.00000 — 9.546551

= 0.498424 — 0.9581061

1.39631 — 6.681581

—8.00000 + 9.546551

= —0.515583 4 0.9631491

7.31403 — 9.922451

—8.00000 + 8.988581

= —0.515583 — 0.9631491

7.31403 +9.922451

—8.00000 — 8.988581

= —0.404764 + 1.0240301

1.07785 — 5.524251

0.+ 8.146071

= —0.404764 — 1.0240301

1.07785 + 5.524251

0. —8.146071

= —0.233677 + 0.8522101

—0.623068 — 1.1871201

—7.72350 + 5.056241

= —0.233677 — 0.8522101

—0.623068 4 1.1871201

—7.72350 — 5.056241

= 0.851377 + 0.0839341

2.85684 — 9.448701

—4.98605 + 5.549111

= 0.851377 — 0.0839341

2.85684 +9.448701

—4.98605 — 5.549111

= 0.852586 + 0.0225941

—3.20905 — 3.312171

—8.79110 + 3.45488]

= 0.852586 — 0.0225941

—3.20905 + 3.312171

—8.79110 — 3.454881

= 0.410067 + 0.7446371

4.35656 + 1.821301

—1.37205 — 4.424991

= 0.410067 — 0.7446371

4.35656 — 1.821301

—1.37205 + 4.424991

= —0.849857

—6.87858

—13.9160

= —0.845627 + 0.0738891

—2.90459 + 5.988571

—9.04687 — 5.679561

= —0.845627 — 0.0738891

—2.90459 — 5.988571

—9.04687 + 5.679561

S|z |8g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g &

0.827138 + 0.0648641

—2.07867 — 2.023691

—7.11684 — 0.300581




Solutions to I

V=1(vol + /=1CS)

Cusp shape

0.827138 — 0.0648641

e
I

—2.07867 + 2.023691

—7.11684 + 0.300581

u = —0.807037 + 0.0875681 4.26879 — 0.247171 | —3.39910 4 0.077341
u = —0.807037 — 0.0875681 4.26879 4+ 0.247171 | —3.39910 — 0.077341
u= 0.551203 + 0.5486931 8.95890 + 4.231681 0.05530 — 3.668621
u= 0.551203 — 0.5486931 8.95890 — 4.231681 0.05530 + 3.668621
u = —0.577788 4 0.4719031 8.68670 4 5.569211 | —0.54288 — 3.397791
u = —0.577788 — 0.4719031 8.68670 — 5.569211 | —0.54288 + 3.397791
u = —0.519271 + 0.5221361 2.91441 — 1.353351 | —3.12429 + 3.821861
u = —0.519271 — 0.5221361 2.91441 4 1.353351 | —3.12429 — 3.821861
u = —0.414950 + 1.2121901 0.41454 — 4.458211 0
u = —0.414950 — 1.2121901 0.41454 4 4.458211 0
U 0.542248 + 0.4712601 2.74694 — 2.469291 | —3.89041 + 3.849041
uw=0.542248 — 0.4712601 2.74694 4 2.469291 | —3.89041 — 3.849041
u= 0427149 + 1.2288201 —5.94379 4 2.357691 0
u= 0427149 — 1.2288201 —5.94379 — 2.357691 0
u = —0.491901 + 1.2079501 0.95958 — 4.493751 0
u = —0.491901 — 1.2079501 0.95958 + 4.493751 0
u = —0.420560 + 1.2398301 —6.87549 4 1.577081 0
u = —0.420560 — 1.2398301 —6.87549 — 1.577081 0
u=0.413959 + 1.2435701 —1.17541 — 5.054281 0
u= 0413959 — 1.2435701 —1.17541 4 5.054281 0
u= 0488156 + 1.2193101 —5.50486 + 6.789021 0
u= 0488156 —1.2193101 —5.50486 — 6.789021 0
u=0.450005 + 1.2409901 —7.01271 4 1.299721 0
u = 0.450005 — 1.2409901 —7.01271 — 1.299721 0
u = —0.494953 + 1.2247601 —6.33970 — 10.837901 0
u = —0.494953 — 1.2247601 —6.33970 + 10.837901 0
u = —0.461598 + 1.2377401 —10.59200 — 4.672101 0
u = —0.461598 — 1.2377401 —10.59200 4 4.672101 0
uw=0.500220 + 1.2250407 —0.5543 + 14.34111 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape

= 0.500220 — 1.2250407 —0.5543 — 14.34111 0
= 0.472689 + 1.2363501 —6.84904 + 8.057011 0
0.472689 — 1.2363501 —6.84904 — 8.057011 0

—0.495413 4 0.2275511

3.21756 4 1.886411

—4.06409 — 3.745901

= —0.495413 — 0.2275511

3.21756 — 1.886411

—4.06409 + 3.745901

u
u
u
u
u
u

= 0.373493

—0.759282

—12.9670




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u® +37u% 4+ —3u+1
Ca,C7 w4 U —u—1
€3, €4, C8 Wb — %y —1
Cs5, €10, C11 u% — w4 -1
6 u® +u® + - — 743u — 317
Cg, C12 u% — 118 + .- — 2747u + 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1 y66_15y65+_47y+1
C2, Cr Yo 437y ... —3y+1
C3,C4,C8 Y% —67y% - — 99y + 1
Cs5, €105 C11 Yo +619% + ... —3y+1
¢ 66 65
6 yo + 17y + - - - + 1831157y + 100489
66 65
C9, C12 Yo 4 4by>° + - - - — 101539y + 34969




